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Bu testte 80 soru vardir.

PRACTICE EXAM 1

11-10

1. - 8. sorularda, ciimlede bos birakilan
yerlere uygun diisen sozciik veya ifadeyi
bulunuz.

1. The life ---- of a young person nowadays seem

to depend more on the income and education
of their parents.

A) communities B) graves

C) prospects D) competitions

E) deposites

. The EU Commission will take further steps
towards higher standards by reviewing CO2
emissions, improving water and air quality and
setting ---- regulations on the use of pesticides.

A) accessible B) valid

C) finite D) legitimate

E) strict

. There is currently enough food to feed
everyone in the world, but it’s just not
distributed ---- and efficiently.

A) basically B) fairly

C) particularly D) scarcely

E) exactly

. Aresearch agency has recently ---- a survey in

which thousands in the country were asked the
question: “What would be your ideal education
system?”

A) satisfied B) happened
C) conducted D) taxed
E) supposed

DENIZ PINAR Yoy ine 2.

5.

~

The textile company in our town had to ----
some of its employees due to economic crisis.

A) make up B) put forward

C) figure out D) bring up

E) lay off

. Scientists ---- a clue as to the existence of

some black holes in the Hyades cluster which
is the closest open cluster to our solar system
ever ----,

A) found / will discover

B) had found / discovering
C) have found / discovered
D) find / are discovering

E) will find / discover

. Higher consumption of fruits and vegetables

---- with a lower risk of death in men and
women, according to data ---- nearly 2 million
adults.

A) was associated / represented

B) has been associated / being represented

C) had been associated / having represented

D) would be associated / having been represented

E) is associated / representing

. Environmental priorities ---- in terms of impact

and scale and cost-benefit analysis, ---- access
to energy with appropriate environmental
safeguards.

A) should be assessed / assuring

B) must assess / to assure

C) have to be assessed / having assured
D) need to be assessed / to have assured

E) may assess / being assured
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9. - 15. sorularda, ciimlede bos birakilan
yerlere uygun diisen sozciik veya ifadeyi
bulunuz.

13.

Although they cannot roar, cheetahs can make
a number of ---- sounds ---- purring, chirping,
yowling, and growling.

A) another / like

9. For the last four years, more than 3,000

refugees and migrants ---- in the sea that ---- B) the other / same as

Africa and Europe. C)other / such as

A) have been drowning / had separated
D) others / as

B) are drowning / has separated
E) the others / similar to

C) have drowned / separates

D) drowned / will separated

E) drown / is separating

14. Romans preferred glass so much that they

used it in manufacture ---- for building of
containers and jewellery ---- for architectural

10. Depending ---- which type of diabetes you N purposes.

h b di d ----, treat t - .
Siagvr:aiﬁfae:tlylagnose R e MY S S A) neither / nor B) such / as
' \
A) at/ by B) on / with ; C)as/as D) not only / but also
S
C)off/in D) to / from = E) both / as well
(=4
E) upon / for <
) up Z
A
N
=
Z
(18]
(a]

11. The Aztec people in central Mexico spoke 15. The Opposition won in 2015 on a platform
Hahualt language but were physically that pledged to invest billions on things like
separated from the rest of the Aztecs; ----, their infrastructure --—-- boost Canada’s sluggish
culture did not develop along similar lines. growth.

A)if only B) however A) with reference to B) due to
C) consequently D)in that C)in order to D) despite
E) even though E) according to

12. Even in such eco-friendly countries as Norway
and Finland, only a minority of people realize
that global warming is mainly ---- our actions.

A) inasmuch as B) instead of
C) because of D) or rather
E) given
2 Diger sayfaya geginiz.
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16. - 20. sorularda, asagidaki pargada
numaralanmis yerlere uygun diisen soézciik
veya ifadeyi bulunuz.

21. - 28. sorularda, verilen ciimleyi uygun
sekilde tamamlayan ifadeyi bulunuz.

21. Recent findings suggest that Asians may have
Most penguins spend about half their time (16)-- invaded America ----.
~-1and and the rest in the sea. They (17)---- fish A) as they make up one-quarter of all immigrants
and other kinds of small sea life for food. AlImost y P 9 9
all penguins live in the southern half of the world, B) though many had families in New Orleans
below the equator. The climate crisis (18)----
serious effects on penguins. (19)----, around two- C) so the Chinese arrived in the middle of the 19"
thirds of penguin species are dropping in numbers century
and struggling to adjust. Warming seas, changing . ) ) )
ice patterns, loss of food, and pollution are just D) in case Christopher Columbus discovered it
(20)---- of the problems faced by penguins. E) long before the Europeans reached there
16.
A)in B) from
C) with D) by
E) on ;f*
J 22, ---- although it is a dangerous activity.
<
N A) Mount Everest is Earth’s highest mountain
17. N above sea level
A) take down B) bring up n<: B) Everest presents dangers such as altitude
zZ sickness, weather, and wind
C) look after D) depend on a
N C) A group of 12 men had reached the Himalayan
E) make out — :
= foothills by the 1830s
(18]
(a] D) Nepal has banned solo climbers from climbing
its mountains
18.
E) Climbing Mount Everest has become a popular
A) had had B) would have expedition for mountain climbers,
C) has had D) was having
E) will have had
19.
A) As a result B) After
C) However D) Similarly 23. ----, but none of them attempted to do anything
E) In case to stop him.
A) Ghandi’s ideas were welcome by the majority
B) The Minister will probably resign from his seat
20. C) Florence Nightingale was born into a wealthy
A) many B) a few family
C)all D) much D) Most nations were aware of Adolf Hitler’s aims
E) a little E) Marie Antoinette was the last queen of France
3 Diger sayfaya geginiz.
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24,

----, others are primarily grown for food crops
or textile fibres.

A) Although some farmers grow maize and cotton

B) While some oil seed plants are grown for their
oil only

C) Because most of the rice is consumed locally

D) Since the textile industry is the main source of
income

E) When people want to engage in agriculture

27.

Establishing a marine protected area ----.

A) have been set up to protect vulnerable species
and ecosystems

B) all people depend upon healthy ocean
ecosystems

C) can help both marine ecosystems and local
communities

D) have the responsibility for effectively protecting
the marine environment

E) is six kilometers off the coast in the Indian
waters

25. Only a small portion of the Egyptian population
used hieroglyphs ----.
~L
A) so they were the formal writing systemused in
Ancient Egypt d
S
B) because it was extremely difficult to learn them ;h
S=
C) although it had a total of some 1,000 distinct o
characters <
E 28. Even though they are harmful to health, ----.
D) as it became widespread among the Egyptian o D L
| A) health officials are advising people not to smoke
people N
E) before its name has its origins in the Greek E B) health professionals also use alcohol and
language [a) cigarettes
C) the government must ban smoking in public
places
D) doing regular exercise can improve your muscle
strength
E) everyone should eat a balanced and healthy
diet
26. ----, but they also exhibit some true mammalian
characteristics.
A) Most species prefer warm waters of the tropic
zones
B) They hunted several whales off the coast of
California
C) Dolphins resembile fish in several ways
D) We noticed a strange bird near the river
E) Many bird species have lived in this region for
ages
4 Diger sayfaya geginiz.
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29.

29. - 31. sorulari asagidaki pargaya gore
cevaplayiniz.

Culture shock is the impact of moving from a
familiar culture to an unaccustomed one, which
many travelers experience. It is very common, and
symptoms vary from person to person. Factors
that can cause culture shock include climate,
language, food, values, dress and behavior and
no two cases are exactly the same. Generally
speaking, there are five stages of culture shock
experienced by travelers. The preliminary stage
begins with preparing for the change and learning
the etiquette and cultures you will be presented
with. This is usually followed by euphoria on
arrival, which can wear off, moving on to the

next phase: irritability. This surfaces as you try to
cope with simple aspects of life that can suddenly
seem foreign. The next stage begins as gradual
adjustments are made, with cultures becoming
familiar and everyday life starts to fall into place,
as you adapt to the new culture. The final stage is
coming home. For some, this can have the biggest
impact, as the realization dawns that you have
adapted to a new way of living. Old values still
remain with you while new experiences change
your approach and views on things.

We can understand from the passage that ----.

A) euphoria on arrival and irritability are the two
stages of culture shock followed by preparing
for the change

B) the effects of culture shock on individuals are
uniform no matter which culture they belong to

C) climate, language and food are more likely to
cause culture shock than dress codes

D) even after you come back home, you are still
likely to be exposed to the effects of culture
shock

E) the more you adapt to the new culture, the
more severe the effects of culture shock will be

DENIZ PINAR Yoy ine 4

30. The main purpose of the passage is to inform

the readers about ----.

A) how one can recover from culture shock
B) the causes and the course of culture shock
C) what can be done to avoid culture shock
D) how one can adapt to a new culture

E) the effects of climate on culture shock

31. It is clear from the passage that as you adjust

yourself to a new culture ----.

A) you begin to miss your home less

B) you can feel yourself ready to return home
C) old values start to disappear altogether

D) everyday life begins to seem meaningless

E) the routine of life there starts to make sense

Diger sayfaya geginiz.
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32.

32. - 34. sorular asagidaki pargaya gore
cevaplayiniz.

The Sedona Method is perhaps best thought of
as a form of New Age psychotherapy designed to
free the individual from emotional baggage. It was
created by an American named Lester Levenson.
His story has a slightly melodramatic feel, which
may make some suspicious. In 1952, Levenson, a
46-year-old from New Jersey, had a severe heart
attack that nearly killed him. His doctors could
offer no help, and he was sent home to die. With
nothing to do except lie in bed and stare out of the
window, Levenson began thinking over the various
philosophies and therapies he had encountered
during his life and concluded that none would help
him now. Looking for a way out of his emotional
and physical pain, he considered those moments
in which he had felt most happy and realized that
they all involved a loving focus on someone other
than himself. He entered deeply into this selfless
state and released all negative feelings. In 1990,
four years before his death, Levenson claimed
never to have visited a doctor again. In 1994, he
died of cancer, though, according to some, he was
free of pain and fear throughout the iliness.

According to the passage, Levenson ----.

A) suffered from cancer for four years between
1990 and 1994

B) did not take any medical help from any
physician after he was sent home to die in 1952

C) was free of pain throughout his illness between
1990 and 1994 thanks to the medications he
took

D) would have died of a heart attack if he had not
been taken to hospital immediately

E) made an extensive study on The Sedona
Method before his heart attack in 1952

DENIZ PINAR Yoy ine 4

33. We can understand from the passage that the

Sedona Method ----.

A) played an important role in the introduction of
New Age psychotherapy

B) was created by Lester Levenson almost as
soon as he suffered from a heart attack

C)is aimed at helping the patient get rid of
emotional burden

D) was practised by physicians to free Levenson
from his emotional pain

E) has been proven to be beneficial to cardiopathy
but not to cancer patients

34. We can infer from the passage that ----.

A) not everyone thinks that Levenson experienced
no pain or fear when he suffered from cancer

B) Levenson would have been saved if he had
applied to a doctor instead of relying on the
Sedona Method

C) Levenson didn’t go through many therapies
before his heart attack in 1952

D) Levenson was the sort of person who never
loved anyone else other than himself

E) doctors discharged Levenson from the hospital
because they thought it would be better for him
to take special care at home

Diger sayfaya geginiz.
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35. - 37. sorulari asagidaki pargaya gore
cevaplayiniz.

Bill Gates is known for his polio eradication
efforts especially in the Third World countries
since the early 2000s. He has been providing
funding for vaccination campaigns and research
in developing regions where polio still remains a
threat. In fact, the polio threat had already been
eliminated in the Western World by the 1980s.
However, the condition unfortunately prevails in
many Third World countries due to the lack of
hygiene and sanitation. Bill Gates established a
foundation in which he’s been working closely
with organizations like the WHO and UNICEF
with the aim of delivering polio vaccines to
susceptible populations. His efforts have resulted
in a substantial decrease in the number of polio
cases around the world. Bill Gates’ devotion

to eradicating polio through using his wealth
influence serves as a good indication of how one
person can make a deep impact on global health
issues.

. The primary purpose of the passage is to ----.

A) talk about the potential treatment alternatives
for polio

B) explain how Bill Gates and his advocates have
been fighting against polio

C) show how the polio threat ended totally in
developing countries

D) point out why the polio disease is such
dangerous for children

E) inform us about Bill Gates’ efforts and eventual
success in eradicating polio

DENIZ PINAR Yoy ine 4

36. According to the passage, Bill Gates ----.

A) made use of his wealth and connections in
order to eradicate polio

B) has always wanted to engage in global health
issues

C) delivered polio vaccines to all around the world
on his own

D) is only known for his efforts to wipe out polio
disease

E) founded an association to earn money out of
polio eradication aids

37. It is understood from the passage that ----.

A) helps out all the charities tremendously across
the world

B) Bill Gates tries to show off via using his efforts

C) even one person can make a change in an
important health issue

D) owing to the lack of hygiene and sanitation,
every disease is now a threat to us

E) children will keep dying because of the effects
of polio

Diger sayfaya geginiz.
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38. - 40. sorular asagidaki pargaya gore
cevaplayiniz.

Sea level in the Chesapeake Bay rises at a faster
rate than average because the land underneath
the bay is sinking. During the last ice age, glaciers
pushed the land surrounding the Bay upward. After
the glaciers had melted, the land slowly retreated
to its original position through a process called
land subsidence. As the land sinks, the water in
the Bay rises. Land subsidence contributes to
about half of the Chesapeake region’s observed
sea level rise. Melting ice causes the remainder.
Since so much of the land in the Chesapeake
region already lies very near sea level, even a
small rise would have a huge impact. It could
destroy the wetland habitats of many birds, fish,
shellfish and plants. Human populations and
structures are also at risk. In many low-lying areas,
farms and homes will have to be relocated as the
bay floods the land. Roads, bridges and buildings
will need to be removed and restructured, as will
sewage, draining and other utility systems. As the
sea creeps inland, rebuilding the infrastructure of
major metropolitan areas such as Baltimore will be
an extremely costly endeavor.

It can be understood from the passage that
land subsidence ----.

A) causes all the sea level rise in the Chesapeake
Bay

B) is the lowering of the land-surface elevation

C)was a frequent occurrence during the last ice
age

D) was the reason for the melting of glaciers

E) is an event limited to the Chesapeake Bay

DENIZ PINAR Yoy ine 4

39. It is clear from the passage that ----.

11-10 \1
A) roads, bridges and buildings near the
Chesapeake Bay have already been flooded
due to the rise in sea level

B) human populations and structures are unlikely
to be damaged by a rise in sea level in the
Chesapeake Bay

C) Baltimore is among the places that could be
adversely affected by the sea level rise in the
Chesapeake Bay

D) sewage, draining and other utility systems are
strong enough to withstand any flooding due to
sea level rise

E) birds and fish are much more vulnerable to the
negative effects of the rise in sea level than
plants

40. The passage is mainly about ----.

A) the importance of the Chesapeake Bay in the
world economy

B) the types of fish, birds and plants peculiar to the
Chesapeake Bay

C) the destruction caused by the rise in sea levels
around the world

D) the sea level rise in the Chesapeake Bay and
its likely consequences

E) the observed changes in climate during the last
ice age

Diger sayfaya geginiz.
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41. - 43. sorulari asagidaki pargaya gore
cevaplayiniz.

Agricultural methods often vary widely around the
world, depending on climate, terrain, traditions,
and available technology. Low-technology farming
involves permanent crops. They are food grown
on land that is not replanted after each harvest.
Citrus trees and coffee plants are examples of
permanent crops. Higher-technology farming
involves crop rotation. It requires knowledge of
farmable land. Scholars and engineers not only
use crop rotation and irrigation, but plant crops
according to the season, type of soil, and amount
of water needed. In coastal \West Africa, farmers,
usually women, plant corn soon after the first rains
of the growing season. They often use an ancient
method of clearing called slash-and-burn. First,
the farmer cuts all the brush in her plot. When this
vegetation dries, she sets fire to it. The heat from
the fire makes the soil easy to turn, and the burned
vegetation fertilizes it. The farmer then spreads
kernels of corn that are saved from the previous
year’s harvest.

41. According to the passage, citrus trees ----.

A) are examples of higher-technology farming

B) are usually planted after the first rains of the
growing season

C) need a variety of nutrients to grow strong and
healthy

D) do not need to be planted again and again after
each harvest

E) do not produce much fruit in drought conditions

DENIZ PINAR Yoy ine 4

42. It is clear from the passage that ----.

A) farmers in coastal West Africa are not engaged
in low-technology farming

B) scholars and engineers avoid using crop
rotation and irrigation

C) slash-and-burn is a method that has existed for
along time

D) the amount of water needed is not important in
higher-technology farming

E) the soil becomes too hard to turn when the
vegetation on it is burnt

43. In order to make the soil more fertile farmers in
coastal West Africa ----.

A) burn the vegetation on it

B) spread kernels of corn on it
C) water it more frequently

D) make use of crop rotation

E) have developed a new method

Diger sayfaya geginiz.
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44. - 48. sorularda, karsilikl konugmanin bos
birakilan kismini tamamlayabilecek ifadeyi
bulunuz.

44. Jack:
— | am planning to buy a smartphone but |
don’t know much about them. Look at all
these models; can you help me out here?

Ken:

Jack:

— Well, I will be using it for mobile banking
services such as transferring cash
payments. | also need it to take notes and
write documents.

Ken:

— In that case, this model is just for you as it
has got all the features you mentioned. It has
a safe operating system with extra security
such as a fingerprint sensor and a nice word

45. John:

Michelle:

— Of course, | do. It’s the Chinese New Year,
and it is celebrated in many countries
around the world.

John:
— Really! | didn’t know that. How is it
celebrated then?

Michelle:

— There are dragon dances, lion dances
and fireworks in many cities, and people
follow traditional customs such as eating
lucky food or presenting lucky gifts to their
families and friends.

A) When is the Chinese New Year celebrated?
B) Do you have any idea what Lunar New Year is?

C) Are the Lunar New Year and the Chinese New
Year the same things?

processor. ~ D) Do you know how many animals the Chinese
A) There are many more models in the market, Y calendar has?
i i \
?or}d it depeCIeREEiRaliizR Y Ou are loolile S E) You won'’t take part in the celebrations, will you?
) N
S
B) | think it is all about the durability of a >
smartphone. It's advisable to go for a metal-built n<:
handset. 4
C) There is good evidence that shows the z
professional benefits of having a state-of-the-art = 46. Amy:
smartphone. E — Oh my gosh Erica. The last time | saw you,
(=) you had a little one at home and now you’ve
D) I would love to help you out here, but you know got two.
| am more into laptops rather than mobiles. Erik
rika:
E) Battery life is one of the most important features - Yes. I've been busy the last five months
to consider when choosing a new smartphone. taking care of both of them.

Amy:

Erika:

— Thank you. It feels strange for sure after this
maternity leave, but I’m excited to catch up
and see everybody.

A) Well, congratulations and it is really great to
have you back here.

B) Luckily, you're starting remotely, instead of
having to go back to a physical office.

C) It's making me think you have kiddos at home,
but at different ages, right?

D) I have to share the memory of you coming here
for the first time.

E) I think this goes without saying Erika, but as
your colleague, | have your back.

10 Diger sayfaya geginiz.
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47.

48.

Ricky:
— Why don’t we go to a café and chat after
work?

Melanie:
— To a café? ----

Ricky:
— | do a bit, but I think it will be relaxing for
both of us before going home.

Melanie:
— You have a point. Let’s do that.

A) Why don’t you ask Joseph to join you?

B) | don’t think a café is an ideal place to go after
work.

C) Don’t you feel exhausted after a hard day’s
work?

D) Why not? We can gossip about Rachael there.

E) Don’t you think it will help us remove our
stress?

Melanie:
— We are really happy to meet you again after
such a long time.

Ashley:

— And I’'m delighted to be back here in
Manchester and have the chance to see you
again.

Melanie:

Ashley:
— About three years. | couldn’t come before
although | really wanted to.

A) How long is it since you were last here?
B) Why didn’t you come back before?

C) When did you move to London?

D) When did you move from Manchester?

E) How long ago did you arrive in Manchester?

DENIZ PINAR Yoy ine 4

49. - 53. sorularda, verilen ciimleye anlamca
en yakin ciimleyi bulunuz.

49. The demand for gold has fallen due to a

substantial rise in its price.

A) Because of a slight increase in its price the
demand for gold has decreased.

B) In spite of the sudden boost in price, the
demand for gold continues to rise.

C) The considerable drop in its price is the reason
for the increase in the demand for gold.

D) Fewer people are purchasing gold because its
price increased significantly.

E) The price of gold has increased a little, so many
people have given up buying gold.

50. People today can easily obtain information

thanks to the spread of the internet.

A) If it weren’t for the spread of the Internet, people
could not acquire information.

B) The internet is the only way that people today
can access information without difficulty.

C) Despite the spread of the Internet, not
everybody can easily get information.

D) The internet is more widespread today because
we can obtain information effortlessly.

E) The spread of the Internet has enabled us to
readily receive information.

1
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51.

Before agriculture became widespread, people
spent most of their lives searching for food.

A) Most people spend their time trying to find
food even after people started to engage in
agriculture extensively.

B) If agriculture had not become prevalent, we
would still spend the majority of our time in
search of food.

C) With the beginning of agricultural practices,
people gave up looking for food all the time.

D) People’s time, on the whole, was occupied
with looking for food before agriculture was a
common practice.

E) Because agriculture became common, nobody
around the world had to spend time searching
for food.

53.

According to most psychologists, the role that
the heart plays in love is actually exaggerated.

A) Some psychologists believe that the heart does
not actually play a significant role in love.

B) Many psychologists argue that the heart hardly
plays any role in love.

C) As far as psychologists are concerned, the
role played by the heart in love is mostly
overestimated.

D) There are several psychologists who think that
the heart actually plays no role in love.

E) The majority of psychologists are of the opinion
that the role the heart plays in love is, in fact,
not as much as widely believed.

=
Y
\
<
N
N
. (24
52. International Women’s Day has been < 54. - 58. sorularda. verilen durumda
celebrated since the early 1900s, which was E soylenmis olabile(’:ek sézii bulunuz.
a time of great turbulence with a booming a8
population and the rise of radical ideologies. % 54. You have a cousin who studies at university in
A) Since it was a time of immense chaos owing to 3 the department of biology. She is considering
a rapidly increasing population and the growth (a] leaving her degree to study something she
of radical ideologies, International Women'’s is truly passionate about. You are concerned
Day was only celebrated at the beginning of the as there is no guarantee for work once she
twentieth century. graduates. So, you say: ----
B) The world has been in a period of immense A) Talk to your tutors to detect if there are
unrest with an increasing population and alternative resolutions you haven’t considered.
growing extreme ideologies since the very early . . .
twentieth century, when International Women'’s B)lsit Wor_th mgklng S.UCh a blg. ct;ange for
Day was celebrated. something with no job security?
C) The early 1900s saw a flourishing population ) ;(ou‘tsho.uld ﬂkr)St ttry to |c:jentlf¥twha: itis that you
and the emergence of political movements, on't enjoy about your department.
creatlng a time of great turbulence in whlch D) Do you need to be passionate about your job to
International Women’s Day was recognised. be happy and successful in the future?
D) Ever since the beginning of the twentieth E) There is no greater thing you can do with your
century, when there was turmoil due to a rapidly life than follow your passions.
rising population and the growth of extremist
ideologies, the world has been commemorating
International Women'’s Day.
E) International Women’s Day was acknowledged
in the early 1900s despite the fact that the
world was in upheaval as a result of the rapidly
growing population and the growth of extreme
philosophies.
12 Diger sayfaya geginiz.
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55. You are the manager of a law company and you

56.

are interviewing a young guy who has applied
to your company. You want to learn why he
wants to work for you. You ask: ----

A) Why do you think you are the best candidate for
this position?

B) What was the reason for you to resign from
your post?

C) Why did you choose to study law at university?
D) What motivated you to look for a job in our firm?

E) Who was your role model when deciding to
become a lawyer?

A close friend of yours has been suffering from
health problems due to smoking for some time.
However, he keeps on smoking. You want him
to stop smoking at once, so you say in a rather
harsh way: ----,

A) If | were you, | wouldn’t smoke that much.

B) You know it’s not sensible to smoke at your
age.

C) Why don’t you give up smoking? I'm sure you'll
feel better.

D) It's high time you stopped smoking; otherwise,
you’ll pass away soon.

E) Would you like to go out and smoke with me?

DENIZ PINAR Yoy ine 4

57. Your company is going through an economic

[3)]
©

crisis and your sales are dropping day by day.
You think that urgent measures must be taken.
So at the board meeting, you say: ----

A) | hope that the measures we have taken will
help us overcome the crisis.

B) How long do you think the crisis will last?

C) Now that the crisis is over, we can return to our
normal routine.

D) It is so saddening to see that our measures
have so far failed.

E) We must quickly do something to recover from
the crisis.

. Afriend of yours is criticising someone else in

your class for having a bad taste in clothing.
You have heard that person is having a hard

time financially but you do not want to reveal
it. So to imply the situation, you say: ----

A) Hey, stop talking like that! Her family has gone
bankrupt recently and is having a hard time.

B) She always wears designer labels that look like
rubbish. What a waste of money!

C) I know some people shop at second-hand
stores and perhaps that is what she is doing.

D) You’re absolutely right! She is a complete mess
with those clothes.

E) Do you think we should talk to her and donate
some of our own clothes?

13
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59. - 63. sorularda, bos birakilan yere,
pargada anlam biitiinliigiinii saglamak igin
getirilebilecek ciimleyi bulunuz.

59. ---- It really is a hole in the eye called the pupil.

The pupil can change sizes with the help of
the coloured part around it, a muscle called
the iris. By opening and closing the pupil, the
iris can control the amount of light that enters
the eye. If the light is too bright, the pupil will
shrink to let in less light and protect the eye.
If it is dark, the iris will open the pupil up so
more light can get into the eye.

A) Sight helps us to get information about what is
going on in the world around us.

B) The middle ear is filled mostly with air and has
three bones in it.

C) The brain controls the eye to help it focus and
to control where you are looking.

D) In order for us to see, light enters our eyes

60. ---- But the impacts of these gases are not

the same. The main difference between them
is that methane does not last as long in the
atmosphere as carbon dioxide. It stays around
for only 10 to 20 years, while carbon dioxide
can linger for hundreds of years. Yet methane
warms the atmosphere more than carbon
dioxide does.

A) Using fossil fuels releases far more methane
than people had thought.

B) Humans are responsible for nearly all the
methane in our atmosphere.

C) Greenhouse gases are the gaseous
components in the atmosphere.

D) The effects of methane and carbon dioxide are
different.

E) Like carbon dioxide, methane is a greenhouse
gas.

through the black spot in the middle. ;!‘
E) The brain takes in a number of signals from \g)

your body to keep it balanced. N
S

>
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<
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N
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Z
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61. The Great Wall of China is a wall that covers

much of the northern border of China. The wall
was built to help keep out northern invaders
like the Mongols. ---- But the first Emperor of
China, Qin Shi Huang, decided that he wanted
a single giant wall to protect his northern
borders. He ordered a single strong wall to

be built with thousands of lookout towers.
Soldiers could guard and protect his empire
form these towers.

A) Smaller walls had been built over the years.

B) The length of the Great Wall is around 5,500
miles long.

C) The wall was built by peasants, slaves and
criminals.

D) There were soldiers guarding the walls and
towers.

E) Smoke signals were used to indicate an attack

62. Like the Greeks, the Aztecs were interested

in how to lead a good life. But they did not
start with the human ability to reason. Rather,
they looked outward, to the circumstances

on Earth. They had a saying: “The earth is
slippery, slick.” which was as common to them
as a contemporary aphorism such as “Don’t
put all your eggs in one basket.” is to us. ----
Moreover, good things only come mingled
with something undesired. “The Earth is not a
good place. It is not a place of joy, a place of
contentment.” a mother advises her daughter,
in the record of a conversation that has
survived to this day.

A) The Aztecs were great masters of their
language, and throughout time produced great
sayings voiced by poets and orators.

B) As such, the Aztec daily life for many of the
men was to farm or engage in craftwork.

C) The Aztec daily life was quite simple — in fact,
Aztec family life was very similar to many

~L modern-day cultures.

N
\gi D) In addition, Aztec people could move down in
N the system by committing a crime or failing to

ay a debt.

X pay

n<: E) What they meant is that the Earth is a place

=z where humans are prone to error, where our

a plans are likely to fail, and friendships are often

N betrayed.

=

p4

(18]

(a]
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63.

Ducks can be divided into three groups. One
group known as the surface-feeding ducks
includes the mallards, black, teal and shoveler
ducks. ---- They are excellent swimmers and
divers. In this group are the canvasback, eider,
merganser and harlequin ducks. The third
group includes perching ducks such as the
wood and Muscovy ducks. These ducks live
entirely on land, nest in trees and have longer
legs than aquatic relatives.

A) All domestic ducks are descended from the
mallard.

B) It is a common name for many species of
aquatic birds.

C) The other group of divers and swimmers has
reached the area.

D) The second group is known as the sea ducks or
diving ducks.

E) The shoveler and eider ducks are chiefly
carnivorous.

65.

Infants and young children require relatively
more protein than adults do in order to support
their rapid development.

A) Hizl gelisimlerini desteklemek icin bebekler ve
kucuk gocuklarin yetiskinlere gére biraz daha
fazla proteine ihtiyaci vardir.

B) Hizli gelisimlerini desteklemek icin bebekler ve
kiclk cocuklar yetiskinlerden nispeten daha
fazla proteine gereksinim duyarlar.

C) Bebeklerin ve kiguk gocuklarin buytimelerini
desteklemesi yetiskinlere kiyasla alacaklari
daha fazla proteine baglidir.

D) Bebekler ve kiiguk ¢cocuklar yetiskinlerden
¢ok daha fazla protein almalidir ki béylelikle
gelisimlerini hizlandirabilsinler.

E) Bebekler ve kuglk cocuklar yetiskinlere oranla
daha fazla protein almazlarsa gelisimlerini
hizlandirmayi basaramazlar.

=
-
\
S
N
N
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<
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N
z
64. - 69. sorularda, verilen ingilizce ciimleye '-'n-‘ ES- :eoplg art; conskt_ant-ly;]warned abouttt_he bl
anlamca en yakin Tiirkge climleyi bulunuz. azargs of smoking; however, no noticeable
fall in cigarette sales has occurred so far.
64. Women are advised against carrying a hand or A) Insanlar genellikle sigara igmenin tehlikeleri
shoulder bag as there has been a dramatic rise hakkinda yarilmaktadir fakat su ana kadar
in mugging incidents lately. sigara satislarinda herhangi bir disis
olmamistir.
A) Kadinlarin el ve omuz ¢antasi tasiyanlara
kars: dikkatli olmasi tavsiye ediliyor ¢inkli son B) insanlarin ara sira sigara igmenin riskleri
zamanlarda gasp vakalarinda hizli bir artis hakkinda uyariimalar sigara satiglarinda fark
oldu. edilebilir herhangi bir diistise simdiye kadar
I .
B) El ve omuz ¢antasi tasiyan kadinlara karsi neden olmamistir
son zamanlarda gasp vakalarinda artis olmasi C) insanlar sigara icmenin zararlari hakkinda
ediliyor. satislari eskiye gore gozle goriiliir bir sekilde
rtmaktadir.
C) Kadinlara el veya omuz c¢antasi tagimamalari artmatadir
tavsiye ediliyor ¢iinkli son zamanlarda gasp D) insanlarin sigara igmenin tehlikeleri hakkinda
vakalarinda buyUk bir artis oldu. ara sira uyarilsalar da sigara satislarinda
imdiye ki fark edilebilir herhangi bir dis
D) El ve omuz ¢antasi tagiyan kadinlar son Ellr;c;%e;stlardar ark edilebilir herhangi bir dists
zamanlarda gasp olaylarindaki ani artis '
nedeniyle gok biyUk risk altindalar. E) Insanlar siirekli olarak sigara igmenin zararlari
hakkinda uyarilmaktadir, ancak simdiye kadar
E) Son zamanlarda kadlr]I?.r.ln eI_ veya omuz sigara satiglarinda gézle goraldr higbir disus
¢antasi tasimamalari 6gutleniyor glinkli gasp olmamistir
vakalarinda gozle gordlir bir artis oldu. ’
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67. By observing what content customers and

potential customers consume, businesses can
determine what products to produce and share
only the type of content that will help them to
prosper.

A) Isletmeler, miisterilerin ve potansiyel
musterilerin ne gibi icerikleri tukettiklerini
gbzlemleyerek hangi Urunleri Ureteceklerine
karar verebilir ve sadece kendilerinin
basarili olmalarina yardimci olacak igerikleri
paylasabilir.

B) Musterilerin ve potansiyel musterilerin ne gibi
icerikleri tlkettiklerini gdzlemleyen sirketler,
hangi drunleri Ureteceklerine karar vererek
sadece kendilerinin zenginlesmelerine yardimci
olacak icerikleri paylasabilir.

C) isletmeler, miisterilerin ve potansiyel
musterilerin ne gibi icerikleri tukettiklerini
gbzlemler ve boylelikle hangi Grunleri
Ureteceklerine karar vererek sadece kendilerini
zenginlestirecek icerikleri paylasabilir.

D) Isletmeler, miisterilerin ve potansiyel
musterilerin ne gibi icerikleri tukettiklerini
g6zlemleyerek hangi Urlinleri Ureteceklerine
ve kendilerine ileri gétirmeye yardimci olacak
iceriklere karar verebilir.

E) isletmelerin, miisterilerin ve potansiyel
musterilerin ne gibi icerikleri tukettiklerini
g6zlemlemeleri, hangi Grtnleri Greteceklerine
karar vermelerine ve kendilerinin basarili
kilacak Uriinleri segmelerine yardimci olabilir.

DENIZ PINAR Yoy ine 4

68. All through the 1970s, many industrial

[<2]
©

countries experienced a serious energy crisis
owing to the rapid increase in oil prices.

A) 1970ler boyunca birgok Ulkenin ciddi bir enerji
krizi ile karsi kargiya olmasinin sebebi petrol
fiyatlarindaki ani artisti.

B) 1970ler boyunca petrol fiyatlarinin muazzam
bir sekilde artmasi nedeniyle, bircok endustriyel
Ulke ciddi bir eneriji krizi yasadi.

C) 1970ler boyunca, petrol fiyatlarindaki hizl artis
bircok endustriyel Ulkeye ciddi bir enerji krizi
yasatti.

D) 1970lerde petrol fiyatlarindaki gézle goralir
artistan dolayi bircok endustriyel tlke ciddi bir
enerji krizi ile karsilastilar.

E) 1970ler boyunca, petrol fiyatlarindaki hizli
artistan dolayi, birgok endustriyel (ilke ciddi bir
enerji krizi yasadi.

. Caffeine acts as a central nervous system

stimulant, so it exists as a common ingredient
in medications to treat or manage drowsiness,
headaches and migraines.

A) Kafein, merkezi sinir sistemini harekete gegirir,
bu nedenle uyusuklugu, bas agrisini ve migreni
tedavi etmek veya yonetmek icin ilaglarda ortak
bir uyarici bilesen olarak bulunur.

B) Kafein, merkezi sinir sistemi uyaricisi oldugu
igin uyusuklugu, bas agrilarini ve migreni tedavi
etmek veya yonetmek icin kullanilan ilaglarda
yaygin bir bilesendir.

C) Kafein, merkezi sinir sistemi uyaricisi olarak
gorev yapar, bu nedenle uyusuklugu, bas
agrisini ve migreni tedavi etmek veya yonetmek
icin ilaglarda yaygin bir bilesen olarak bulunur.

D) Merkezi sinir sistemi kafein tarafindan uyarildigi
icin sersemligi, bas agrisini ve migreni tedavi
etmek veya yonetmek amaciyla, ilag bilesenleri
arasinda yaygin bir sekilde bulunur.

E) Uyusuklugu, bas agrisini ve migreni tedavi
etmek veya yonetmek igin kafein, merkezi sinir
sistemi uyaricisi olarak kullanildigindan dolayi
ilaglarda bir bilesen olarak bulunur.
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70. - 75. sorularda, verilen Tiirkge ciimleye
anlamca en yakin Ingilizce climleyi bulunuz.

70. Miicevherin muhtesem diinyasi, insanlarin
hayal giiciinii ele gegirme yetenegine her
zaman sahip olmustur.

A) The magnificent world of jewellery has always
been able to catch the imagination of people.

B) The magnificent world of jewellery has always
had a lasting effect on the imagination of
people.

C) The magnificent world of jewellery has always
possessed the ability to capture the imagination
of people.

D) The magnificent world of jewellery has the
ability to stimulate the imagination of people.

E) The magnificent world of jewellery has always
helped people to use their imagination.

72. Dogum oranlarindaki diigiis egiliminin devam
etmesi halinde uzmanlara goére yuzyilin
sonunda hemen hemen butiin tlkelerin niifusu
azalabilir ve bu toplumlar lizerinde inanilmaz
etkiler yaratabilir.

A) According to experts, the downward trend
in birth rates continues, so the population of
almost all countries will decrease at the end of
the century and this could have an incredible
effect on societies.

B) If the trend in birth rates continues to go
downward, according to experts, the population
of all countries will decrease at the end of
the century and this might have an incredible
impact on societies.

C) The downward trend in birth rates continues,
and thus the population of almost all countries
may decrease at the end of the century and
according to experts, this could have an
incredible impact on all societies.

~L D) In case the downward trend in birth rates
N continues, which could have an incredible
\gi impact on societies, experts search for ways to
o increase the population of all countries at the
K end of the century.
&: E) If the downward trend in birth rates continues,
=z according to experts, the population of almost
o all countries may decrease at the end of the
N century and this could have an incredible
E impact on societies.
(18]
(a]
71. Sistem, suglularn sadece cezalandirmak yerine
onlari davraniglarini degistirmeye tesvik
etmektedir.
A) The system should inspire offenders to change
their behaviour rather than punishing them only.
B) The system not only punishes the offenders but
also inspires them to alter their behaviour.
C) Instead of simply punishing them, the system
encourages offenders to modify their behaviour.
D) The system does not punish the offenders but
pushes them to alter their behaviour instead.
E) Rather than punishing the offenders, the system
aims at transforming their behaviour.
18 Diger sayfaya geginiz.
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73.

74.

Giinesin zararh ultraviyole iginlarindan
gozlerinizi korumak igin, her zaman uygun
ultraviyole korumasi olan giines gozlukleri
takmalisiniz.

A) You can protect your eyes from the sun’s
harmful ultraviolet rays by wearing sunglasses
with proper ultraviolet protection.

B) In order to protect your eyes from the sun’s
harmful ultraviolet rays, you should have worn
wearing sunglasses with proper ultraviolet
protection.

C) You should always wear sunglasses with proper
ultraviolet protection to shield your eyes from
the sun’s harmful ultraviolet rays.

D) It is necessary for you to wear sunglasses
with proper ultraviolet protection so that you
can shield your eyes from the sun’s harmful
ultraviolet rays.

E) You must have worn sunglasses with proper
ultraviolet protection in order that you could
protect your eyes from the sun’s harmful
ultraviolet rays.

Kadinlarin tarih boyunca kullanageldikleri tiim
aksesuarlar arasinda, ayna sosyal statiilerine
veya yaslarina bakmaksizin, muhtemelen
onlarin en sevdigi sey olmustur.

A) Although women have used many accessories
throughout history, the mirror is probably the
thing that they have liked most regardless of
their social status or ages.

B) The mirror, which is one of the accessories
women have used throughout history, is
probably the thing that they have liked most
irrespective of their social status or ages.

C) All the accessories that women have used
throughout history have been important to
them, but most probably it was the mirror that
they liked most irrespective of their social status
or ages.

D) Of all the accessories that women have used
throughout history, the mirror is probably what
they have liked most regardless of their social
status or ages.

E) The mirror has always been the most valued
accessory of women throughout history
regardless of their social status or ages.

DENIZ PINAR Yoy ine 4

75. Piyasalardaki yeni risklerden dolayi altina olan

talep 6nemli oranda artti.

A) There has been a gradual increase in demand
for gold with the new risks on the markets.

B) Demand for gold has increased dramatically
due to new risks on the markets.

C) The rapid increase in demand for gold is
because of the new risks on the markets.

D) There has been a significant reduction in
demand for gold owing to the new risks on the
market.

E) Demand for gold has considerably declined on
account of the new risks on the market.

19
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76. - 80. sorularda, ciimleler sirasiyla
okundugunda parganin anlam biitiinliiginii
bozan ciimleyi bulunuz.

76. Tanzania’s President advised against using birth
control pills. (Il) He said Tanzania needed more
people and it was rich enough to educate more
children. (lll) Education in Tanzania is provided by
both the public and private sectors, starting with
pre-primary education. (IV) The president used
the example of European countries that do not
have enough workers. (V) He says they are now
struggling with a declining population and have no
labour force because of birth control.

A)l B) Il c) I D) IV E)V

79. (I) It is an unfortunate fact that stressors in the
workplace are pretty frequent. () The worker may
feel anxious by the idea that the demands of their
environment greatly exceed their capabilities and
resources. (lll) In fact, they are far more common
than you probably think. (IV) This is an important
fact, as your performance and well-being can be
significantly affected by them. (V) Although the
causes are not always clear, in most cases, these
stressors can be easily solved if the individual can
distinguish between temporary and continuous
work stress.

A)l B) i c) I D) IV E)V

=
S
\
S
N
77. Molecules and compounds are held together by Q 80. Wind turbine syndrome is an alleged condition
forces called chemical bonds. (Il) Governments, [o'd suffered by people living close to wind turbines.
corporations and municipalities issue bonds when <t (Il) The term was coined in 2009 as propaganda
they need capital. (lll) There are two main types E against what a handful of anti-wind energy
of bonds that hold most compounds together: A advocates refer to as “Big Wind”. (lll) A wind
covalent bonds and ionic bonds. (IV) Covalent N turbine is a machine for converting the mechanical
bonds involve the sharing of electron pairs E energy in wind into electrical energy. (IV) Its
between atoms. (V) lonic Bonds, in contrast, result A main proponents are people who don’t want tall
from the electrostatic attraction between oppositely metal structures visible from their houses. (V)
charged ions. The symptoms of the syndrome are claimed to
be internal pulsation, quivering, nervousness,
Al B) 1l C)El D) v E) V fear, a compulsion to flee, chest tightness, and
tachycardia — increased heart rate.
A)l B) 1l C) D) IV E) V
78. The Age of Exploration began in the 1400s
and continued through the 1600s. (ll) It was a
period of time when the European nations began
exploring the world. (lll) Some expeditions became
rich by discovering gold and silver, such as the
expeditions of the Spanish to the Americas. (IV)
They went on expeditions to discover new routes
to India, much of the Far East, and the Americas.
(V) The main purpose of the expeditions was to
make money.
A)l B) i C) D) IV E) V
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